Summations
Unit 6: Representations of Linear Relations

Evaluate the related series of each sequence.

1.26,34,42,50,58

A6+3Y4+ 47 +§a+58£

2.16,23,30,37,44,51

16+23+30+37 + Yy + S :

Evaluate each arithmetic series described.

3.43+52+61+70..,n=9

4.7+ 15+23+31..,n=15

[Se= 1751

56 +10+14+18..,n=13 ;

6.17+26+35+44..,n=9

5, = 390 ] - wﬂ,
7. %324 (4n - 9) 8.5/ (Bi+5) '
d=Y ". '—%(1a+(:\-f)d) d=3 S7='%‘(Z'G,+(;\—l\'ol§
n= '7\ .‘l ('z (_5)"(‘1 .') "l> n=7 57'—'- %—(8,84.(7,').3)
d,= 401y -1 S;a = 6 (~le.+ (i) (4)) Qa"i"i;‘ S, = 3.5 (16 + (0)(3))
=Y - = - + il
4, 1 5y —Q'G((I;,L/)‘M) @ = 3,5(ie+I8)
S"‘ " S, = 35 (3‘/)
Sia = 5 -
< | s,= 111,

9. 322, (9n - 10)

d=9  Ss=2(20,+(-d)

B8 J;‘-(z 125 1))
a,= 9()-lo

6,=9-10  Sis=12.5(=2 +(24)%))

a1

st' 7."/?, 5('2 +tz'6)
Szs = J2. 5(A14)

‘ Sas = 2GS ’

10. 325, (9m - 16)

d=9 -8 (20 + (n-0d)
n=2as

=22 (2-"T+(2s-1)-9
a=9(N-1¢ s "( )
a =9-1¢ = 1.5 (=19 + /zt/)/m

=12.5 (.,4 +216)

= k.5 (202)




Evaluate each arithmetic series described.

11.a;=37,a,=97,n="7
57 = _n):_(a‘ +Q,")
= % (37 1‘-97)

s, = 3.5(13Y)

= 969 |

12.a, = 14,a, = 38,n =7
S; =4 (a +a,)
= % (14+33)

S, = 3.5(52)

13.a, = 46,a, = 136,n = 11
Su= %(4, +4,)
s, = = (46 +13¢)
s, =5.5(172)

S,= 100]

14.a, = 10,a,, = 25,n =6
S.=%2(a, +a,)
=% (lo +as)
S. = 3(35)

155 = IC'SI_

15.a; = -9,a, =-87,n=14

5 =’l(a +ay)
Sy=2(-9-87)
Sll{=7(_?£’)

S¢= ~b74

16. a, = 8,a, = 200,n = 25
= (a +a,)
= 23(% 1 200)
= 12.5 (208)

S2s
' st = 2&005

17.a;, = 14,d=3,n=11
Si=%(2-a +(n-1yd)
Sn= g (:z 19+ (11-1)-3)

= $.5(28 + (10)(3))
s = s.s{2%+30) .

= 5. 5(s8) = -

18.a, = 42,d = 9,n = 10
}a-"-'—— (2 a, + (n-1) J)

5,,=-'-(,'( Y3 +(10-1)- 9)
5. =5( 94 +(9)(2))

s, = S(§4+8i)
iS'.ZS] :

S

( a +(n—l)d>
(2-7+(7-1)5)
5,= 3.5 (1 +(6)(5))
5,2 3.5 (14+30)

5,=3.5(4¢) =[T54\

-_7.
57 %

S,= 5(165) =
20.a1:—11d——5n—12
(,’z a, + (a-1): d)
,,,=——(2 I+ (1R-1)5)
Sia= 6 (~22+ (1)(5)
Sia= b(-22~55)

Sia= 6677 =[~Yo2]




@ - In ’Qrme(‘m /UeeJeg_i

d=521-WUs3) = 9
a4, = 43
N =4‘i

uS"Mj the .prrmu la 5'

& (1, + o
5, = '}'(2-73 +(9'I)-9)
S, = 4.5( 8¢ + (8)(1))
S= 4508+ 72)
S5a= 4.5 (158)

L': 711

@ I\"_’p"‘”‘«#"on Needed :

d=[5—(7>-_—_
a = 7
n= 15

u""\} the ﬁrmu/a

S =2 (24 F(ne1)eol )
Sn = ‘[1{(2-"7 /-(/5-/).3)
Sa= 7.5 (14 + (14)(s))
Sy = 7.5( 1Y ~ii2)
5= 7.5(13¢)
= 9¢y5

G) Tulomle, teedoy

d= 10-(s) =
d.= ¢
n= 13

Um«q H\e Af‘mul !

(20,  (n-1-d)

Sn T
Sn =% (2-6+(13-1)4)

Sa= 6.5(12 + (12)(4Y)
Sa= CS(I2+UE)
5,‘ éS(éo}

|



@ Ln ﬁ"""\h‘ll‘h\ 'UCCJCJ : uSiﬂ. H\C_ tcaf‘mu/a: |

d=26-00= 9 5= %241 (n-1)d)
al :’7 : | | SA=;—(Z-I7+(Q'I)9)
n=d | S, = 4.5 (34 # 8(9)

Si= %5 (34 +72)
s,= 4 s(loe)



